Air Cylinders

Fine Quality

1 1 B
STC
HE N

Excellent Prices

Precision Engineered
ubise(q paoueApy

Tel: 650-856 8833 | www.StcValve.com

H1|83



Contents | Air Cylinder Numbering System

H2 | 84

Contents
Air Cylinder Numbering System. ... H2
Air Cylinder Technical Data...........ccoooiiii e H3
MA & MAL Series Stainless Steel Round Cylinder Dimensions........................... H4
SC & SU Series Cylinder DIMENSIONS. ... H5
SDA Series Compact Cylinder DIMeNnSioNS..........coviiiiiiii e, H6
SSA Series Compact Cylinder DIMeNnSIoNS..........covvuiiiiiiiiiiei e, H7
Cylinder Mounting Bracket DIMeNSIONS..........ooiiiiiiiiii e H8
Ordering Part No. = -
(e.g., SSA 32X20)
Bore Stroke ’ .
Model | Magnet (Optional) Options
12 Mounting Options:
Double Acting | MA 16 (Leave Blank) = Standard Front Nose Mount
MA Series Stainless . and Back Pivot Mount
Steel Round 20 |5 500 | (LeaveBlank) =withoutMagnet | o' b oo e Back Mount
’ 25 S = Magnet for Hall Sensor .
Cylinder Single Acting 32 FA = Front Mounting Flange
S e MSA 20 FB = Back Mounting Flange
SDB = Back Clevis Bracket with Pin
Mounting Options:
Double Acting | MAL 16 (Leave Blank) = Standard Front Nose Mount
MAL Series 20 - and Back Pivot Mount
Aluminum Round 25 | 25.500 | (LeaveBlank) =withoutMagnet | g’ oo Back Mount
. S = Magnet for Hall Sensor .
Cylinder Single Acting 32 FA = Front Mounting Flange
(Spring Return) MALS 40 FB = Back Mounting Flange
SDB = Back Clevis Bracket with Pin
32
SC Series Tie-Rod 40 Mounting Options:
eries Tie-Rol ) =
Cylinder Double Acting | SC :g (Leave Blank) = Standard Mount
80 LB = Foot Mount
100 25.1000 (Leave Blank) = without Magnet | FA = Front Mounting Flange
125 i S = Magnet for Hall Sensor FB = Back Mounting Flange
160 CA = Pivot Bracket with Pin
S}J Series E.nclosed Double Acting | SU 200 CB = Clevis B.racket with Pin.
Tie-Rod Cylinder B TCM = Swinging Type Attaching Foot Seat
320
12
16
Double Acting | SDA 20
25
SDA Series o Thread Type Options:
Compact Round ::; 5-130 (sl'fa'\‘;le Blatn:() —Hw::hsout Magnet (Leave Blank) = Shaft with Female Thread
Cylinder it = Magnet for Hall sensor B = Shaft with Male Thread
) . 63
Single Act SSA
ingle Acting 80
100
Part No. Description Specifications
AL-03R-MA MAL Reed Switch for MA or MAL cylinder
AL-11R-SDA Reed Switch for SDA cylinder Reed Switch 5-240 V (DC/AC) 100 mA 10W
AL-21R-SC SU Reed Switch for SC or SU cylinder (with 39” Lead Wires)
AL-30R-SI Reed Switch for Sl cylinder

Tel: 650-856 8833 | www.StcValve.com




Air Cylinder Technical Data

MA/MAL Internal Components

® @ 6OIO0

SC/SU Internal Components
@® @0 @ ® Q0006 O

Iltem | Name MA Series Cylinder Material | MAL Series Cylinder Material| Quantity Item Name Material Quantity
1 Front Cover Hard Anodized Aluminum Hard Anodized Aluminum 1 1 Front Cover Polymer Coated Aluminum 1
2 Back Cover Hard Anodized Aluminum Hard Anodized Aluminum 1 2 Back Cover Polymer Coated Aluminum 1
3 Barrel Stainless Steel Hard Anodized Aluminum 1 3 Cylinder Barrel L 1
4 Piston Rod Chromed Carbon Steel Chromed Carbon Steel 1 4 Piston Rod Chromed Carbon Steel 1
5 Piston Aluminum Aluminum 1

5 Piston Aluminum 1
6 Piston Rod Seal NBR NBR 1
7 Piston Seal NBR NBR 1 6 Piston Rod Seal NBR 1
8 Magnet Ferric Magnet Ferric Magnet 1 u GiStonlscl B 2
9 Front & Rear Cover | Carbon Steel Carbon Steel 1 8 Bearing Non-Lube Bearing 1
10 | Piston Rod Screw | Carbon Steel Carbon Steel 1 9 Magnet Ferric Magnet 1
11 | Bearing Non-Lube Bearing Non-Lube Bearing 1 10 Cushion Screw Brass 2
12 | Anti-Friction Ring PTFE PTFE 1 11 Anti-Friction Ring PTFE 1
13 | Cushing Gasket NBR NBR 2 12 End Cap Seal NBR 2
14 | Fixing Screw Carbon Steel Carbon Steel 1 13 Cushion Seal NBR 2
15 | Cover Seal NBR NBR 2
MA/MAL Round Cylinder Technical Data
Bore (mm) 12 16 20 25 32 40
Motion Pattern Double Action/Single Action

Working Medium

Air

Fixed Type

Basic Type/LB Type/FA Type/SDB Type

Operating Pressure

Double Acting: 14 to 130 PSI (1.0~9.0 bar);

Single Acting: 29 to 130 PSI (2.0~9.0 bar)

Ensured Pressure Resistance

195 PSI (13.5bar)

Operating Temperature 0to70°C

Operating Speed 50 ~ 800mm/s

Buffer Type Spacer Buffer Adjustable Buffer (MA and MAL only have spacer buffer)

Port Size M5x0.8 | G18 | G1/4
SU/SC Cylinder Technical Data

Bore (mm) 32 40 5o | e | s 100 125 | 160 | 200

Motion Pattern Double Action

Working Medium Air

Fixed Type Basic/LB/FA/CA/CB/TC/TC-M Type

Operating Pressure 14 to 130 PSI (1.0~9.0bar)

Ensured Pressure Resistance 195 PSI (13.5bar)

Operating Temperature 0to70°C

Operating Speed 50 ~ 800mm/s

Cushioning Length 20 26 45

Port Size G 1/8” G 1/4” G 3/8” G1/2 G 3/4”

Tel: 650-856 8833 | www.StcValve.com

H3 | 85



MA & MAL Series Stainless Steel

Round Cylinder Dimensions

Bore| A |A1|A2|B|C|D|D1|E|F| G |H]| I K

A+ (Stroke) J
B (8t roke} 16 |114]114] 98 |38]60[15[15[22[16] 10 [16[10] 5 M6 X 1
_LN 2=X 20 [137[128(116|40|76|21[12|28[12]| 16 |20[12| 6 M8 X 1.25
25 [141/134(120|44|76|21]|14 30|14 | 16 [22]17] & M10 X 1.25
6
7
X

32 [147(134|120|44 |76 |27 |14 |30|14| 16 |22|17 M10 X 1.25
40 [149(136(122|46|76 |27 |14 (32|14 |16.7|24 |17 M12 X 1.25
Bore L M|P|Q|R[R1|S| U |V W AR| AX | AY
16 | M16X15 |14|6 |12|14(14|9 |21 |6 |5 | M5 |6|24 28
20 | M22X15 |10)| 8 [16]|19[12|12| 27 |8 |6 |G1/8|7 |33 29
25 | M22X1.5 |12]8 [16[19[14|12| 30 [10| 8 |G1/8|7 | 33 29

8

9

32 | M24X20 |12|10|16|25[14|15| 35 [12|10|G1/8 37 32
40 | M30X20 [12]12[20|25[14|15] 42 |16|14|G1/8 47 4

B D) )]
E e TS, ] BPa)
2-% 7] F o
i 1 N
=] | T ra
+ = ONE
Symbol A A1 A2 C
B DIDI[E[F[G|H]| I |J K L M|P|[Q|R|RT|S|U|V|W| X [AR[AX| AY
Bore | 0~50 [51~100| 0~50 |51~100| 0~50 [51~100 0~50 [51~100
20 137 162 128 153 116 141 40 76 101.0 {21 |12 |28 (12|16 |20 (12| 6 | M8X 1.25 [ M22X1.5 |10 | 8 |16 (19|12 (12|27 | 8 | 6 [G1/8| 7 |33 | 29
25 141 166 134 159 120 145 44 76 101.0 {21 |14 |30 (14 [16 |22 (17 | 6 |[M10X1.25| M22X1.5 |12 | 8 |16 19|14 (12|30 |10 | 8 [G1/8| 7 |33 | 29
32 147 172 134 159 120 145 44 76 101.0 {27 |14 |30 (14 [16 [22 (17 | 6 |[M10X1.25 | M24 X 2.0 [12 |10 |16 |25 |14 (15|35 |12 | 10 [G1/8| 8 |37 | 32
40 149 174 136 161 122 147 46 76 101.0 |27 |14 |32 |14 (22 |24 |17 | 7 [M12X1.25| M30X 2.0 [12 12|20 |25 |14 | 15|41.6| 16 | 14 |G1/8| 9 | 47 41
A+ (Stroke)
MAL B C+ rroke) D
E [1] 5 BP (H8)
2-% 7] Vo
o — X
=] | T ra
o as N =
Bore] A A [m[B]c[D[DI[EJF[Gc[H] 1] K L M[Pla[RIRI[sTuJv]w]x][a]ax][Ar
16 [104 (104 | 90 |38 [ 52 [ 15 [ 15 |24 [ 14 [11 |16 |10 ] 5 | mMex1 |[mi6x15] 8 | 6 [12|13[13]| 6 [20] 6 | / [M5]| 7 |24 ] 28
20 [131]122]110[ 40 [70 [21 [ 12 [ 28 [12 |16 [20 [12 | 6 [ M8x 125 [ M22x15 [ 10| 8 [16 [19 [ 121220 8 | 6 [cs8] 7 [ 33 ] 29
25 |135] 128|114 44 [ 70 [ 21 |14 [30 [ 14 [ 16 [22 [ 17 | 6 [Mi0x1.25| M22x15 [ 12| 8 [16 |19 |14 [ 12|34 [ 10| 8 |c8] 7 |33 | 29
32 [141]128[114 [ 44 [70 [ 27 [ 14 [30 [14 [ 16 [22 [ 17 [ 6 [M10x1.25| M2ax2.0 [ 12 [ 10 [ 16 [ 25 | 14 [ 15 [ 40 | 12 | 10 [c18] 8 |37 | 32
40 165|152 |138] 46 |92 |27 [ 14 [ 32 [ 14 |22 |24 |17 | 7 [M12x1.25| M30x 20 [ 12 [ 12 [ 20 | 25 | 14 | 15 | 50 | 16 | 14 |G1/4| 9 | 47 | 41
MALS
' G+ (Strokel ] "
: T G 1% pgms) 03,
— I
o
Nt
ey
Symbol A A1 A2 [of
B DI|E|F|G|H|I [J K L M{P|Q|R[RI|S|U|V | W| X |AR|AX|AY
Bore |0~50|51~100| 0~50 | 51~100 | 0~50 [51~100 0~50 [ 51~100
20 131 156 122 147 110 135 (40| 70 95 2112|128 |12|16 (20 (12| 6 | MBX1.25 [ M22X15 |10 | 8 |16 (19|12 [12|29| 8 | 6 |G1/8| 7 |33 |29
25 135 160 128 153 114 139 (44| 70 95 21(14(30(14|16|22|17| 6 |M10X1.25| M22X15 12| 8 (16|19 |14 |12 |34 |10 | 8 |G1/8| 7 |33 |29
32 141 166 128 153 114 139 (44| 70 95 27(14(30|14 |16 (22|17 | 6 [M10X 1.25| M24X2.0 |12 |10 (16 | 25 | 14 | 15 [39.5/ 12 | 10 [G1/8 | 8 | 37 | 32
40 165 190 152 177 138 163 (46| 92 117 27 |114(32 (14 22|24 |17 7 |(M12X1.25| M30X2.0 (12|12 |20 |25 |14 | 15|49.5/ 16 | 14 |G1/4| 9 | 47 | 41

Tel: 650-856 8833 | www.StcValve.com



SC & SU Series

Cylinder Dimensions

A+Stroke
B C+Stroke os
E Fl.G G G oT
H ) KE-D [N N |
J R |
———ar— =] [ ©
a T T 4 £ T X
Oty - — - - - - -
>‘ 1 = ukq % EETY ]
W/ " — Y @)
(] \E-&ﬁhim%ﬁdr@Sm [ @] -

Bore A Al A2 B C D E F G H | J K L
32 140 | 187 | 182 | 47 93 28 32 15 | 275 | 22 17 6 |M10x1.25| M6
40 142 | 191 | 185 | 48 93 32 34 15 | 275 | 24 17 7 |[M12x1.25| M6
8
8

50 150 | 207 | 196 | 57 93 38 42 15 | 275 | 32 23 M16 x 1.25 | M6
63 153 | 210 | 199 | 57 96 38 42 15 | 275 | 32 23 M16 x 1.25| M8
80 183 | 258 | 243 | 75 108 | 47 54 21 33 40 26 10 |M20x1.25| M10
100 | 189 | 264 | 249 | 75 114 | 47 54 21 33 40 26 10 | M20x 1.25| M10

125 | 226 / / 104 | 122 55 70 34 33 54 40 10 | M27 x1.25 | M12
160 | 291 / / 123 | 168 | 62 93 30 50 72 55 18 M36x2 | M16
200 | 347 / / 167 | 180 | 80 112 | 55 50 72 55 18 M36x2 | M16
250 | 389 / / 189 | 200 | 90 122 | 67 54 84 65 21 M42 x2 | M20
320 | 436 / / 216 | 220 | 110 | 126 | 90 65 96 75 24 M48 x2 | M24

Bore M N O ® Q R S T \ W X Y Z

32 95 | 135 | G1/8 | 3.5 7.5 7 45 33 12 10 / / 21

40 9.5 | 13.5 | G1/4 6 8.2 9 50 37 16 14 / / 21

50 95 | 135 | G1/4 | 85 8.2 9 62 47 20 17 / / 23

63 9.5 | 13.5 | G3/8 7 8.2 8.5 75 56 20 17 / / 23

80 115 | 16.5 | G3/8 | 10 OIS 14 94 70 25 22 / / 29

100 | 11.5 | 165 | G1/2 | 11 9.5 14 112 84 25 22 / / 29

125 | 155 | 165 | G1/2 | 10 10 11 140 | 110 32 27 / / /

160 | 17.5 | 25 | G1/2 / / / 180 | 140 40 36 / / /

200 | 175 | 25 | G3/4 / / / 220 | 175 40 36 / / /

250 25 31 G1 18.5 5 40 270 | 220 50 46 90 10 /

320 28 31 G1 35 15 35 350 | 270 63 55 110 10 /

Tel: 650-856 8833 | www.StcValve.com



SDA Series
Compact Cylinder Dimensions

H6 | 88

A+Stroke A+Stroks
] C+Stroke 3 C+Stroke i o
” 3 P3 FINECER P3_ S "
B4 [ P,
- F~=
-
=T Pand A
= u\ o)
W/ i
FlLG\a.0
M |
SDA 12-16, Female Thread SDA 20-100, Female Thread
B+Stroke E—Stroke
L M 2
H_|B1_, C+Stroke = v 53 55 qu R
M_| S P3 T1) T "~ pal .
" Pal_ I } .
et (ese)
* EEFE s - 3 I ’g?;‘“\ ——i
88 Q0 Co SRS 9 &)
SN 3 E >, N7
! W 5 Y \ o @
= G\E o HS i 4-P1 ] —
N - = Rl B ngl
SDA 12-16, Male Thread SDA 20-100, Male Thread
Symbol | St T With M
ymbol | Standard Type ith Magnet gl el e zlelw | 7| o L
Bore A B (o} A B (o}
12 |22 (34|17 3244|275 | - |6 | 4|2 ]12|m5%x08| 4 | 8 |M3x05]| 10
16 | 24 | 36 [185] 34 | 46 |285(55| - | 6 | 4 | 2 |12 |M5x08 | 4 [ 8 [ M3x05 | 11
20 |25 |40 [195] 35 | 50 [29.5/55 |36 | 8 | 4 | 15| 15 |M6x1.0| 5 | 10 | M4x0.7 | 13
25 |27 |44 |21 |37 |54 [31] 6 [42]10] 4| 2|17 |m8x125| 6 |14 [ M5x038 | 17
32 [315/49.5(245(415(505(345( 7 [ 50 | 12 | 4 | 3 | 18 [M10x1.25 6 | 17 | M6x1.0 | 22
40 |33 |61 |26 |43 |71 |36 | 7 [585( 12| 4 | 3 |28 |[M14x15| 8 |22 [M8x1.25| 28
50 |37 |65 |28 |47 |75 (38| 9 [715/ 15| 5 | 4 | 28 [M18x15| 9 |27 [M10x15]| 38
63 |41 |69 |32 |51 |79 |42 9 [845/ 15| 5 | 4 | 28 [M18x15| 9 |27 [M10x15]| 40
80 |52 |85 |41 [62[95|51 |11 [104(20| 6 | 5 |33 |mM22x15| 13|32 [M14x15]| 45
100 | 63 [101] 51 | 73 [111] 61 | 12 [124| 20| 7 | 5 | 38 [M26x15| 12 | 36 [M18x1.5] 55
Symbol / N1 N2
Stroke | M o) P1/DIA P3|P4| R[S |[T1|T2|V |WwW]|X]|Y
Bore S=5]s>5|s=5[s>5
12 3 75 55 M5X0.8 | M5x0.8x4.2 | 12 (45| - [ 25 (16323 | 6 [ 5 | - | -
16 3 8 5 | 55 [M5x0.8| M5x0.8x4.2 | 12 |45] - |20 [198[28 | 6 [ 5 | - | -
20 3 8.5 55 M5X0.8 | M5x0.8x42 | 14 |45 | 2 |34 |24 | - | 8 | 6 [11.2] 10
25 3 9 55 M5X0.8 | M6x1.0x46 | 15 55| 2 |40 |28 | - |10 | 8 | 12 | 10
32 3 9 65 | 8 G1/8 | M6x1.0x46 | 16 55| 6 |44 |34 | - |12 |10 | 18 | 14
40 3 9 75 G1/8 |M8x1.25x6.7| 20 | 7.5 |65 |52 | 40 | - | 16 | 14 | 21 | 14
50 3| 8 | 105 | 8 | 105 | G1/4 [M8x125x6.7 |25 |85 |95 |62 |48 [ - |20 | 17 [295] 19
63 3|95 | 11 | 95 | 11 | G1/4 |M8x125x6.7 |25 85|95 |75 |60 | - |20 |17 | 26 | 19
80 4 | 115 | 14 | 115 | 14 | G3/8 |[M12x1.75x9.2| 25 [105| 10 | 94 |74 | - | 25 | 22 | 36 | 26
100 4] 15 | 20 | 15 | 18 | G3/8 | M14x2x113 |30 | 13 | 10 {114 | 90 | - | 32 | 27 |355] 26

Tel: 650-856 8833 | www.StcValve.com



SSA Series

Compact Cylinder Dimensions

A+Strake

A+Stroke
B C+Stroke = C:Stroke 5
m | B3 =< s " P35 P3. = a
Pl P4 ‘ T 1] =¥ X =
] i il P W
l [ H—- i
i my +
By g
T (\ § &
” )
Fl_|G'\2-0
ot w /]
H|_G
L
SSA 12-16, Female Thread SDA 20-63, Female Thread
B+Stroke B+Stroke
A+Stroke . A+Stroke
_H_[B1, C+Stroke _| H |81 C+Stroke
wm | B3, £33 M| =P P
P4 P4 i B4
121/ ] T =
- L | ez
P I I 1 B R i =
&I s, % _$ . :»[ _n'rﬁ hy
_l/ a8 g & i
W 5 7o : ’/
= = G\ =2-0 - _I/ M \ @
= = 4.-p 1R
=-0
[ =2 NE
SSA 12-16, Male Thread SSA 20-63, Male Thread
Symbol / Standard Type With Magnetic Piston
Stroke A B C A B C B1 D E B G H | J K K1 L
Bore <10 | >10 | =10 | >10 | =10 | >10 | =10 | >10 | <10 | >10 | <10 | >10
12 32 42 44 54 27 37 42 52 54 64 37 47 5 - 6 4 2 12 | M5x0.8 4 M3x0.5 | 10
16 34 44 46 56 |28.5|38.5 | 44 54 56 66 | 385|485 55 - 6 4 2 12 | M5x0.8 | 4 M3x0.5 | 11
20 35 45 50 60 [29.5|39.5| 45 55} 60 70 (395|495 |55 | 36 8 4 | 15| 15 | M6x 1.0 5 10 [ M4x0.7 | 13
25 37 47 54 64 31 41 47 57 64 74 41 51 6 42 | 10 4 2 17 |[M8x1.25| 6 14 | M5x0.8 | 17
32 415|515 |59.5|69.5|345|445 (515|615 |69.5 (795|445 |545| 7 50 | 12 4 3 18 [M10x1.25 6 17 | M6x1.0 | 22
40 43 53 71 81 36 46 53 63 81 91 46 56 7 [585]| 12 4 3 28 (M14x15| 8 22 |M8x1.25| 28
50 47 57 75 85 38 48 57 67 85 95 48 58 9 [715] 15 5 4 28 (M18x1.5| 9 27 |M10x1.5| 38
63 51 61 79 89 42 52 61 71 89 99 52 62 9 |845| 15 5 4 28 |M18x1.5| 9 27 [M10x1.5| 40
80 62 72 95 | 105 | 51 61 72 82 | 105 | 115 | 61 71 11 | 104 | 20 6 5 33 [M22x1.5| 13 32 (M14x1.5| 45
100 73 83 | 111 | 121 61 71 83 93 | 121 | 131 7 81 12 | 124 | 20 7 5 38 [M26x1.5| 12 36 [M18x1.5| 55
L M (¢} P1/DIA P3 | P4 R S T | T2 | V w X Y
Bore S=5 S>5 S=5 ‘ S>5
12 10 3 7.5 5.5 M5X0.8 | M5x0.8x4.2 | 12 | 45 - | 25 |16.3| 23 6 5 - -
16 11 3 8 5 ‘ 5.5 M5X0.8 | M5x0.8x4.2 | 12 | 45 - 29 |19.8] 28 6 5 - -
20 13 3 8.5 515} M5X0.8 | M5x0.8x4.2 | 14 |45 | 2 34 | 24 - 8 6 |11.2]| 10
25 17 3 9 55 M5X0.8 | M6x1.0x4.6 | 15 [ 55| 2 40 | 28 - 10 8 12 | 10
32 22 3 9 6.5 | 8 G1/8 M6x1.0x46 | 16 | 55| 6 44 | 34 - 12 | 10 | 18 | 14
40 28 3 9 7.5 G1/8 |M8x1.25x6.7 | 20 | 75 | 6.5 | 52 | 40 - 16 | 14 | 21 14
50 38 3 8 10.5 8 10.5 G1/4 |M8x1.25x6.7 | 25 | 85| 9.5 | 62 | 48 - |20 | 17 |29.5| 19
63 40 3 9.5 11 9.5 11 G1/4 |M8x1.25x6.7| 25 | 85|95 | 75 | 60 - 120 |17 | 26 | 19
80 45 4 11.5 14 11.5 14 G3/8 |M12x1.75x9.2| 25 |10.5| 10 | 94 | 74 - 25 | 22 | 36 | 26
100 55 4 15 20 15 18 G3/8 M14x2x11.3 | 30 | 13 | 10 | 114 | 90 - 32 | 27 |355| 26

Tel: 650-856 8833 | www.StcValve.com



Cylinder Mounting Bracket Dimensions

. | ) )
Front O(LEIeFaBr)FIange D ] &) Double Rear Clevis
) Bracket with Pin (CB %
Q | © ©8) [
[ ]
i ¢ _é | "
an ‘J’ Vi r
@ s
%) ] D s, S
| &g O
B
: BT
FA/FB (Front or Rear Flange) CB (Double Rear Clevis Bracket with Pin)
Bore 32 40 50 63 80 100 | 125 | 160 | 200 Bore 32 40 50 63 80 100 | 125 | 160 | 200
BA | 283 | 323 | 383 | 383 | 47.3 | 475 | 56 63 81 cc 19 19 19 19 32 32 50 55 60
BB 10 10 10 12 16 16 20 25 25 CD 5 5 3 3 8 8 25 30 30
BC 47 52 65 76 95 115 | 140 | 180 | 220 CE 12 14 14 14 20 20 25 30 30
BD 33 36 47 56 70 84 90 115 | 135 cJ 13 13 15 15 21 21 25 30 30
BE 72 84 104 | 116 | 143 | 162 | 224 | 280 | 320 CcP 16 21 20 20 32 32 70 90 90
BF 58 70 86 98 119 | 138 | 180 | 230 | 270 cT 32 44 52 52 64 64 120 | 160 | 160
BG 6.5 6.5 6.5 85 11 11 15 20 20 PAI 41 52 60 60 74 74 130 170 170
BH 11 11 14 14 17 17 19 25 25 PBI 34 46 54 54 66 66 122 162 162
AJ 6.5 6.5 85 85 11 11 13 17 17 S 48 50 62 75 94 112 140 180 220
BP 7 7 9 9 12 12 16 18 22 T 33 37 47 56 70 84 110 140 175
T 33 37 47 56 70 84 110 | 140 | 175
SWIng Type (TC) r—l = \C\‘I.CENYFR_lN T
Jo &]ﬁ
" { = AC+ STROKE 1
i A+ STHOKE __|
— Foot Mount ’ i___Q}\ B
(LB) 1 s
<| <
LA
L] D P
Lo |
& M LB (Foot Mount)
Bore | 32 40 50 63 80 | 100 | 125 | 160 | 200
TC (Center Trunnion) AA | 153 | 169 | 173 | 184 | 200 | 210 | 249 | 328 | 380
Bore 40 50 63 80 100 125 160 200 AC | 134 | 140 | 149 | 158 | 168 | 174 | 213 | 288 | 320
EB 113 126 138 164 182 210 264 336 AD 9.5 15 12 12 16 18 18 20 30
EC 63 76 88 | 114 | 132 | 160 | 200 | 240 AE | 50 | 57 | 68 | 80 | 97 [ 112 | 140 | 180 | 220
ED 37 47 56 70 84 110 | 140 | 175 AF | 33 | 36 | 47 | 56 | 70 | 84 | 90 | 115 | 135
EE 63 76 88 114 132 160 200 240 AG 21 24 28 31 30 30 25 60 70
EG 23 25 £5 £5 23 23 E2 48 AJ | 28 | 30 | 37 | 41 | 49 | 57 | 90 | 115 | 135
EP 25 25 25 25 25 25 32 38 AP | o 12 | 12 | 12 | 14 | 14 | 16 | 18 | 22
B 50 U 30 30 30 30 38 44 AT | 32 | 32 | 32 | 32 | 4 4 8 8 | 10
S 46 56 69 88 108 135 173 213
Rod Clevis with Pin (Y) Rod Pivot with Pin (1)
Single Rear Clevis ™ NE
. . NOD
with Pin (CA) = = - ND
[ e —
IR |7
32 ] kS g
3 | B
6 [—
ey
4 :
ol £ C —
CA (Single Rear Clevis with Pin b [ AL/
Bore | 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200 : 1|55 k3
S 48 0 62 L 84 2 || TR0 |0 || 220 Y (Rod Clevis with Pin), | (Rod Pivot with Pin)
T 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175
Bore| NA | NB [ NC [ND | NE | NF |[NG| NH NJ [ NK [NM | NP | NQ | PA | PB
DC | 34 | 34 | 34 | 34 | 48 | 48 | 50 | 55 | 60
=5 D 2 1 15 1 15 20 | 20 | 25 | 30 | 30 32 (19 |20 | 10 | 40 | 52 | 15 | 20 [M10X1.25| 12 | 18 | 10 | 20 | 52 | 26 | 20
DE | 12 12 | 14 | 12 | 20 | 20 | 25 | 30 | =0 40 | 25 | 24 | 12 | 48 | 67 | 24 | 20 [M12X1.25| 20 | 23 | 12 | 24 | 62 | 33 | 27
DL | 14 14 | 15 1 15 | 20 | 20 | 25 | 30 | 30 50 |32 |32 | 16 | 64 | 89 | 32 | 23 [M16X1.5| 22 | 30 | 16 | 32 | 83 | 39 | 33
DQ 16 20 20 20 32 32 70 90 90 63 | 32 |32 |16 | 64 | 89 | 32 | 23 |[M16X1.5| 22 | 30 | 16 | 32 | 83 | 39 | 33
80 | 44 | 40 | 20 | 80 |112| 40 | 30 | M20X1.5| 30 | 39 | 20 | 40 |105| 53 | 45
100 | 44 | 40 | 20 | 80 |112| 40 | 30 |M20X1.5| 30 | 39 | 20 | 40 |105| 53 | 45

Tel: 650-856 8833 | www.StcValve.com



